3 D FRIR)

FE(RAE

B9 E MRS

—
—

THRER L

EX

1

L
YA

~

s
<
4.

®iE B

TR e WY

S wé\\.\ulm.\\_\\w

D

SIER O R IR

13981033

4

==VI\VIIEs

EARTHEFETH/MI

At IRERE

£

e

REZRDE

|

Zil

Zil

il

1/200,000

{fIE X (S=1:25,000)

(S=1:200,000)

>
~
/.

#






RIER b AR X EGEH =

HRS—2 BEMIERTILETSNAHERICHIZFEA/) i} . HEEE | FARUISEE
StEftouE | EmES 139B1033 | [ElRiEa \ g/ I-4 |  PriEth [ EARTHEFETG/I
SERMO TinICHEET S ZER A
*;Eg TREOBBOEILNOKRES ITRFEOHBEEILNOKRES TREOBEOEILADKRES ITWEOHBSEILADKRES
R ma | BT e | B2 | e | o e | B2 | BT e | B2 | TR | & | e
1 100kN/m##8% % 1.00{0.00 ~ 3.15 150.26| 3m*x# %% 0.00 ~ 0.14 3.07 16.45| 100kN/m#%#B 2% 1.00{ 10.53 ~ 28.00 150.26| 3m%*x#% 5| 25.00 ~ 28.00| 3.07 16.45
s 1.00] 3.15 ~ 10.93 100.00f Z=hl4t | 0.14 ~ 10.93] 3.00 16.05 s 1.00f 5.00 ~ 10.53 100.00f Z=hl4t+ | 5.00 ~ 25.00( 3.00 16.05
9 100kN/mM##BZ 5 -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 -~ = = =
zh st -l -~ = -| Fhilst -~ = = = st = -~ = -| Fhiist -~ = = =
3 100kN/m##8 %% 1.00{0.00 ~ 3.72 160.42| 3m%x#% %] 0.00 ~ 1.44| 3.72 19.91| 100kN/m#%#8 2% 1.00{ 10.55 ~ 41.62 160.42| 3m%*x#8% 5| 25.00 ~ 41.62| 3.72 19.91
s 1.00]3.72 ~ 11.51 100.00| #+list | 1.44 ~ 11.51| 3.00 16.05 s 1.00f 5.00 ~ 10.55 100.00f Z=hl4t+ | 5.00 ~ 25.00( 3.00 16.05
4 100kN/m##8 %% 1.00{ 0.00 ~ 3.88 163.28| 3m%#% %] 0.00 ~ 2.37| 4.14 22.15| 100kN/m#%#8% % 1.00{ 10.58 ~ 50.15 163.28| 3m*x#8% 5| 25.00 ~ 50.15| 4.14 2215
s 1.00| 3.88 ~ 11.67 100.00f Zhlst | 2.37 ~ 11.67| 3.00 16.05 s 1.00f 5.00 ~ 10.58 100.00f Z=hkl4t+ | 5.00 ~ 25.00( 3.00 16.05
5 100kN/m##8 %% 1.00{ 0.00 ~ 3.95 164.58| 3m%#%%| 0.00 ~ 2.46| 4.21 22.55| 100kN/m#%#8% % 1.00{ 10.69 ~ 50.46 164.58| 3m%# % 5| 25.00 ~ 50.46( 4.21 22.55
s 1.00{3.95 ~ 11.74 100.00f Zhlst | 246 ~ 11.74] 3.00 16.05 s 1.00f 5.00 ~ 10.69 100.00f Z=hkl4t+ | 5.00 ~ 25.00( 3.00 16.05
8 100kN/m##8 %% 1.00{ 0.00 ~ 3.09 149.28| 3m#%x# %% 0.00 ~ 0.62 3.39 18.15| 100kN/m#%#8 2% 1.00{ 11.59 ~ 28.46 149.28| 3m%*x#% %] 20.00 ~ 28.46| 3.39 18.15
s 1.00{ 3.09 ~ 10.88 100.00f Z=hLl9t | 0.62 ~ 10.88| 3.00 16.05 s 1.00f 500 ~ 11.59 100.00f Z=hl4t+ | 5.00 ~ 20.00f 3.00 16.05
9 100kN/m##8 %% 1.00{ 0.00 ~ 3.79 161.65|3m%#%%| 0.00 ~ 1.60] 3.84 20.56| 100kN/m#%#8% % 1.00{ 10.75 ~ 40.17 161.65|3m*x#8% 5| 25.00 ~ 40.17| 3.84 20.56
s 1.00{3.79 ~ 11.58 100.00| #+list | 1.60 ~ 11.58| 3.00 16.05 st 1.00f 5.00 ~ 10.75 100.00f Z=hl4t+ | 5.00 ~ 25.00( 3.00 16.05
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZFhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ ZFhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImEBAD ~
zh st ~ FhLst ~ st ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ FhLst ~ ZFhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ ZFhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZFhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ ZFhLst ~ st ~ ZFhLst ~ |
=EFR




